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A transformer can be step-up or step-down.  It works on a.c. only.
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Secondary voltage
Number of turns on secondary coil
Vs
Ns

Primary voltage
Number of turns on primary coil
Vp
Np

If a transformer is 100% efficient:
Power supplied
Power delivered


to primary
in secondary

(Power = p.d., V ( current, I )
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Questions 


For each question show all your working clearly.


For each of the 4 transformers shown, �calculate the output voltage:





Calculate the secondary turns if a 3V lamp is �to be run from a 24V a.c. supply when there �are 480 turns on the primary.





a)	What material is used for the core of a�	transformer? 


What form of energy is used in the energy �transfer between the 2 coils? 


Why does a transformer not work with d.c.?





A transformer is used to light a 12V,  24W �bulb.�The primary coil has 1000 turns with an input �voltage of 240V a.c. 


Is this a step-up or step-down transformer? 


Calculate the number of turns on the �secondary. 


Calculate the current in the lamp. 


State the power delivered by the secondary �to the lamp. 


If the transformer is 100% efficient, what �is the power in the primary? 


In this case calculate the current flowing in �the primary. 


If the transformer was only 50% efficient, �how would this affect the primary current?





Example


A transformer has a primary of �50 turns and a secondary of �200 turns.�If the input voltage is 10V a.c., �calculate the output voltage.





Answer


Secondary voltage	Number of turns on secondary


Primary voltage	Number of turns on primary


output voltage	200


10	50


( output voltage	=  40 V	(a.c.)
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